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Eight questions in rdl me to  bi attempted, as u d w  : 
Ail #m in Part I (which ET Irighm wemks) a d  /our bthtm 
from Part 2. 
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l, (a) Explain why neutralisation is necessary when a triode valve 
is used in the R.F. power amplifier stage of a transmitter. 

(b) With the aid of a diagram ahow how neutralisation,is effected. 
(15 mmh.1 

2. How can the following types of interference be minimheal: - 
(a) at the transmitter, 

L .  (g wer-modulation, 
(2 i )  harmonia, interfering with television reception, 
(iii) spurious oscillation ? 

( b )  at the receiver, 
(i) image response, 
($1 blocking ? (15 mmh.) 

3. With the aid of a simplediagram, describe a heterodyne frequency 
1 meter and explain how it Is used to measure the frequency of a 

transmitter. (15 rnmh.) 

4, State what requirements have to be met under the frequency - 

I , controt and measurment conditions of the Postrnaiter General's 
licence to establish an Amateur Wiseless Station and say why these - 

condihns are necessary. ( I S  marh.) 



Part 2. 

5. With the aid of a diagram indicate the magnetic field associated 
with an air-cored cyhdricd coil. through which direct current is 
flowinga How does the strength of the magnetic field depend upon, 

(a) the magnitude of the current, 
jb) the number of turns ? 

What ir the &W af inserting an iron core in the &l and why are 
laminations uaed for the core when A.C. is used ? (10 mmlis.) 

6. Wbat ia meant by the term r m n w  ? 
If an iedudmce'af"50 EaicrQhenrys is in series with a cspacitarrce 

of 500 pico-farads what is the remnant frequency ? 
x2 may be taken as 10c (10 mmks.) 

7, Q4 State &e reiatimkip between the frequency and the wavt- 
length of a rdio  wave. 

(b) What are the frequencies correspondilig to wavelengths of 
150 m,, 2 m. and 75 cm, ? (10 mwk. )  
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r 8. ~ & m ~ ~ ~ ~ o w i n ~  t m r  : - 

(a) mutual inductance, 
(b) ampli&tiaa f-, 
(C) A.C. &tan- (anode slope r&stance), 

State the dotionship between them. (10 m&.) 

9. Describe with the aid of a block schematic diagram a super- 
hettmckyne receiver suitable far mtinudus wmc remptian and state 
briefly the purpose of ea$ stage of the receiver. ,(l0 mm&.) 

10. %lain briefly why a t a n h g  &m are undesirable in a feeder 
system connscting a tranrrnitter to m acrid. How would you detect 
their presence and minimise them ? (10 wh.)  


